Rationalising the Denominator |

é\

= REVISE THIS
I Th

1 Show that % can be written in the form avh where a and b are integers.

0 s _ 10Js
X
s 5 S

= 215

(Total for Question 1 is 2 marks)

18 . .
2 Showthat — can be written in the form avh where a and b are integers.

V6

T & 6

= 2lc

3 Show that % can be written in the form avh where a and b are integers.

(Total for Question 2 is 2 marks)

70 1 _10h
@ )
= 351

(Total for Question 3 is 2 marks)

4 Show that 20 can be written in the form avh where a and b are integers.
V10
20 6 . plo
o o 10

= 2o

(Total for Question 4 is 2 marks)
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5 Show that 24 can be written in the form a_\/ﬁ where a and b are integers.
V15 b
v 5 _ 24l
fis (g IS
84S
S -
(Total for Question 5 is 2 marks)
6 Show that 3 can be written in the form a_\/§ where a and b are integers.
45 b
35 B . B
«ls S 10
. als
4 o
(Total for Question 6 is 2 marks)
7 Show that L can be written in the form ﬁ where a is an integer.
N2 a
SV X (¥
0 7 | 8

(Total for Question 7 is 2 marks)

8 Show that 60 can be written in the form avb where a and b are integers

NoY
ﬁ: \‘:xﬁ GO X ‘fa = Q)ﬂ
e 6 'z

- 6

"

516

(Total for Question 8 is 2 marks)

24 avs

9 Show that — can be written in the form =Y= where a and b are integers.
V45 b
65 =9 x5 % 5 . M5
s IS 'S

= 35

gIS
S

(Total for Question 9 is 2 marks)
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10 Show that 10\75 32 an be written in the form avZ —b where aand b are integers.
lo-F , T - [(o-@)
V2 7 L
= 100 -{o
L
= \O‘P’L-‘ % = S\li_ - L\'
A

(Total for Question 10 is 3 marks)

11 Show that @ can be written in the form a + bv3 where a and b are integers.
3

Ju+Q x J2 _ [3( +a)

S NS R
_ 3% +al3
3
. b+ = 2L+ 3N
3
(Total for Question 11 is 3 marks)
12 Show that V180 + 40 can be written in the form a+ bv5 where a and b are integers.
V20
[180= [3%x S elS+é0 5 - ]—S(QEWO)
= (S uE B \O

o0 - J& < IS 30 4 4ols

2+ &S

\l

(Total for Question 12 is 3 marks)

3
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13 Show that <—1>5 can be written in the form Q where a is an integer.
V2 a
S
l = L \_ X E = E
(y 4z ¢ V2 R

(Total for Question 13 is 3 marks)

14 Show that % ++/54 can be written in the form kv6 where k is an integer.

24 . 3 ZZMJZ [S4= 1 %6
{6 A3 6 - ¢

LG
e + 36 = H6

(Total for Question 14 is 3 marks)

\)

15 Show that fTES ++4/200 can be written in the form kv2 where k is an integer.

8= Ja <1 J200 = {100 xJL
= 3L = (O
4L T .l

R ML H06T = \HT
=1L

(Total for Question 15 is 4 marks)
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16 Show that == + —= can be written in the form kv3 where k is an integer.
V3 V4B J

20 3.2l
g s

:Tf—ﬁ :\{i
{48 = Jib x\3

I {3 = %3
= 42

1z 3 .
43 3

\l

(Total for Question 16 is 3 marks)
17 Show that 20 x /3% can be written in the form k+/5 where k is an integer.

QDKF:'LOXE :8_Ox\j—s-
S JS

3 s s
= 20x 4 ERE
{5 S

- %0 - \6yS
5

(Total for Question 17 is 4 marks)
18 Show that M — \/i_ can be written in the form ﬁ where a is an integer.
2 10

[+ .6+ | Joxfo o
B JZ 2 L L
ix \[(’i = ﬂ = \Jz+\‘-\—6"\“_o
{\B \h_o_ \0 Z_
. {0 - e
L 2
(Total for Question 18 is 4 marks)
5
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19 Show that 3_1 7 can be written in the form a+b\/§ where a and b are integers.
| 2a+T . 2+2
3-12 2+ (2-V2) (v +W2)
. 3+ 1
T 9 137 -3T -2
_ 3+
q.

(Total for Question 19 is 3 marks)

7
20 Show that NG can be written in the form a—b+v/3 where a and b are integers.

2+

B -
L+3 -\ (24 V)(1- V?)

It - FJ3
b -2V +203-3

_ 1430
\

= 4 -3

(Total for Question 20 is 3 marks)

V2 o .
21 Show that ~=—>" can be written in the form aVv3 +bv2 where aand b are integers.

FL E-r’). B ﬁ(\f{:+7-) - '-I-x\Fg +2JZ
X =
-2 V{e+r ((coWe+r 2
o+ 2T - 23+ 2J2
G +296-2Ve -4 2
4wz N N )
- 7

(Total for Question 21 is 3 marks)

6
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22 Show that 3:/_; 7 can be written in the form  av/5 + bv'1I0  where a and b are integers.
5 2r22 _ 5(3+207)
J-wWL T 2+ (- 2RI
s +2lio
T 67— -]
_ als+lio
\
= &E * 2\“6 (Total for Question 22 is 4 marks)
23 Show that \/35+f can be written in the form  av/2 —bv/5 where a and b are integers.
+

[is={ax s
-31s

24 Show that 8—VI2
5-+3

=G x (3
-2 {3
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WS 3-fic _ 45 (3-T)
Y+lio 2-Vio (3+Vw)(3-{wo)

_ 25 — 4 lso

T o+ Mo - Lo

1248 - xfas xVL
-

- 720{L - n.is

(Total for Question 23 is 4 marks)

\\

can be written in the form a-V3 where a and b are integers.

b
R-21A  S+\V3 _ (3-20)(s+%3)
5-12 S+V3  (S—-V3XS+VR)
- Lo+ 33 -10{3-6
2S +SV3-5V3 -3
W -2
(A

1+ -3
L1

(Total for Question 24 is 4 marks)
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